16555 East Gale Avenue
City of Industry, CA 91716-0080

architectural

PO e 4 i1 [e]| (626)968-5666 Fax(626)330-3861
www.currentlighting.com/aal
CATALOG NUMBER
INSTALLATION INSTRUCTIONS PKSP
—1 g (4) 8-32
SAFETY g -
BRACKET \\Eﬂ__.] 33/8" o SCREWS
LAMP MOUNTING
-6 o (REF) PLATE
READ ALL C 11 "
LABELS (4) 1/4-20 X 3/4 SAFETY
\ 6" SET SCREW CABLE
” FIXTURE SAFETY
s L 0/ AsSSEMBLY BRACKET
" 6" (4) MOUNTING
%ZR-%OW Ay od HARDWARE
(BY OTHERS)
>€k H—F 26 3/4"
" N (5) WIRE
;%%G?N e\ \‘/J CONNECTION
HOLES 6" (BY OTHERS)
U WIRE
A / HARNESS
INCOMING
EGRESS —— 6" LJ WIRE LEADS
LAMP . r
! _
[
33/8" U
{ J EGRESS
- WIRE LEADS
MOUNTING PLATE
FRONT VIEW JUNCTION
NOTE: BOX
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE (BY OTHERS)
WITH THE APPLICABLE INSTALLATION CODE BY A PERSON
FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF
THE PRODUCT AND THE HAZARDS INVOLVED. SILICONE
INSTALLATON
1. TURN OFF POWER. '\SASFLQJ,L\'ATCLNEG
2. READ ALL WARNING LABELS ON THE MOUNTING PLATE. > AROUND
3. PULL INCOMING WIRE LEADS THROUGH WIREWAY AND i
SECURE MOUNTING PLATE TO MOUNTING SURFACE. 0 PLATE
NOTE: TO BE MOUNTED INDEPENDENT OF JUNCTION
BOX. (MOUNTING HARDWARE BY OTHERS) EGRESS
4. APPLY SILICONE ALL AROUND MOUNTING PLATE LAMP
WHERE PLATE MEETS THE MOUNTING SURFACE. RE-LAMPING: (REF)
5. CONNECT INCOMING WIRES LEADS TO RE-LAMPING
WIRE HARNESS WITH WIRE CONNECTIONS. 1. TURN OFF POWER.

(WHITE TO WHITE, BLACK TO BLACK, GREEN TO GREEN.)
6. SECURE SAFETY CABLE INTO THE SAFETY
BRACKET ON THE MOUNTING PLATE
7. THE EGRESS SOCKET MUST BE WIRED TO A
SEPARATE LISTED EMERGENCY CIRCUIT
(LISTED TO UL924 AND CSA 141).

8. SECURE FIXTURE ASSEMBLY TO WALL PLATE WITH
(4) 1/4-20 x 3/4" SET SCREWS.

9. TURN POWER ON AND CHECK FOR OPERATION.
10. INSTALLATION COMPLETE.

RE-LAMPING EGRESS LAMP

1. TURNOFF POWER.

2. LOOSEN (4) 1/4-20 x 3/4" SET SCREWS ON WALL CANOPY,

2.

3.

4.

REMOVE (4) 8-32 SCREWS FROM TOP OR BOTTOM LID. PULL
ON LID TO ACCESS LAMP SOCKET, AND INSTALL LAMP.

RETURN LID AND SCREWS TO ORIGINAL POSITION
AND TIGHTEN SCREWS SECURELY.

INSTALLATION COMPLETE.

BALLAST SERVICING:

1.
2.

TURN OFF POWER.

LOOSEN (4) 1/4-20 x 3/4" SET SCREWS ON WALL CANOPY,
DISCONNECT WIRING & MOVE FIXTURE AWAY FROM WALL
PLATE. FIXTURE MUST BE SUPPORTED DURING SERVICING.
SERVICE BALLAST.

MOVE FIXTURE ASSEMBLY AWAY FROM WALL PLATE. 4. MAKE WIRE CONNECTIONS. (REFER TO WIRING DIAGRAM)
3. REMOVE EGRESS LAMP GENTLY BY PULLING AWAY FROM 5. RETURN FIXTURE ASSEMBLY TO WALL PLATE AND
EGRESS LAMP SOCKET. SECURE WITH (4) 1/4-20 x 3/4" SET SCREWS.
4. REPLACE MR-16 LAMP. 6. INSTALLATON COMPLETE.

5. TO RE-ASSEMBLE, REVERSE PROCEDURE.

currentlighting.com/aal

Current@

Page 1 of 4
(Rev 22/08/22

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change

without notice. All values are design or typical values when measured under laboratory conditions.



16555 East Gale Avenue
City of Industry, CA 91716-0080

architectural

PO e 4 i1 [e]| (626)968-5666 Fax(626)330-3861
www.currentlighting.com/aal
CATALOG NUMBER
INSTALLATION INSTRUCTIONS PKSA
I—— 37/8" —-I
T L_— @832
T SCREWS
SAFETY ~—|—| = LAMP MOUNTING
BRACKET \& I I 9 || 534" e (REF) PLATE
4) 1/4-20 X 3/4" SAFETY
READ ALL — S2T Sorew CABLE
LABELS N- @ 0 SAFETY
LY L FIXTURE BRACKET
ASSEMBLY
@ 2.00" |: 51/ MOUNTING
WIRE WAY ) / HARDWARE
™ (BY OTHERS)
1t 10 1/2" 1'-10" SN
‘u, (5) WIRE
" CONNECTION
2X @ 38" —| ] /
MOUNTING 5 1/4" H (BY OTHERS)
HOLES -Hol L._ WIRE
s —— HARNESS
EGRESS —— | = d INCOMING
LAMP e A WIRE LEADS
e —
5 3/4" é‘i —
é“i —
Q :
i ” EGRESS
o WIRE LEADS
MOUNTING PLATE
FRONT VIEW JUNCTION
NOTE: - BOX
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE (BY OTHERS)
WITH THE APPLICABLE INSTALLATION CODE BY A PERSON ‘
FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF |
THE PRODUCT AND THE HAZARDS INVOLVED. L —] SILICONE
/4
INSTALLATION @ MOUNTING
1. TURNOFF POWER. SURFACE
2. READ ALL WARNING LABELS ON THE MOUNTING PLATE. L —= N AROUND
3. PULL INCOMING WIRE LEADS THROUGH WIREWAY AND
SECURE MOUNTING PLATE TO MOUNTING SURFACE. 0 PLATE
NOTE: TO BE MOUNTED INDEPENDENT OF JUNCTION 0
BOX. (MOUNTING HARDWARE BY OTHERS) EGRESS
4. APPLY SILICONE ALL AROUND MOUNTING PLATE LAMP
WHERE PLATE MEETS THE MOUNTING SURFACE. RE-LAMPING: (REF)
5. CONNECT INCOMING WIRES LEADS TO RE-LAMPING.
WIRE HARNESS WITH WIRE CONNECTIONS. 1. TURN OFF POWER.
(WHITE TOWHITE, BLACK TO BLACK, GREEN TO GREEN.) 2. REMOVE (4) 8-32 SCREWS FROM TOP OR BOTTOM LID. PULL
6. SECURE SAFETY CABLE INTO THE SAFETY ON LID TO ACCESS LAMP SOCKET, AND INSTALL LAMP.
BRACKET ON THE MOUNTING PLATE 3. RETURN LID AND SCREWS TO ORIGINAL POSITION
7. THE EGRESS SOCKET MUST BE WIRED TO A AND TIGHTEN SCREWS SECURELY
SEPARATE LISTED EMERGENCY CIRCUIT -
(LISTED TO UL924 AND CSA 141). 4. INSTALLATON COMPLETE.
8. SECURE FIXTURE ASSEMBLY TO WALL PLATE WITH
(4) 1/4-20 x 3/4" SET SCREWS. BALLAST SERVICING:
9. TURN POWER ON AND CHECK FOR OPERATION. 1. TURN OFF POWER.
10. INSTALLATION COMPLETE. 2. LOOSEN (4) 1/4-20 x 3/4" SET SCREWS ON WALL CANOPY,
RE-LAMPING EGRESS LAMP DISCONNECT WIRING & MOVE FIXTURE AWAY FROM WALL
1 TURN OFF POWER. PLATE. FIXTURE MUST BE SUPPORTED DURING SERVICING.
2. LOOSEN (4) 1/4-20 x 3/4" SET SCREWS ON WALL CANOPY, 3. SERVICE BALLAST.
MOVE FIXTURE ASSEMBLY AWAY FROM WALL PLATE. 4. MAKE WIRE CONNECTIONS. (REFER TO WIRING DIAGRAM)
3. REMOVE EGRESS LAMP GENTLY BY PULLING AWAY FROM 5. RETURN FIXTURE ASSEMBLY TO WALL PLATE AND
EGRESS LAMP SOCKET. SECURE WITH (4) 1/4-20 x 3/4" SET SCREWS.
4. REPLACE MR-16 LAMP. 6. INSTALLATION COMPLETE.

5. TO RE-ASSEMBLE, REVERSE PROCEDURE.

currentlighting.com/aal

Current@

Page 2 of 4
(Rev 22/08/22

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change

without notice. All values are design or typical values when measured under laboratory conditions.



16555 East Gale Avenue

FlgH )1 (= Hil gz i City of Industry, CA 91716-0080
T [Te 2 3 e]| (626)968-5666 Fax(626)330-3861

www.currentlighting.com/aal

CATALOG NUMBER

WIRING DIAGRAMS PKSA

AC UE P
u UE
1 1
RED 5 reo——{—f [J3— whire ®
PINK ReD
LAC WHITE [C]
_L_ SOCKET YELLOW/GREEN R111 LMP HLDR
- 1 93007310
= MMC LMP HLDR
93007488
5CABLE
CONDUCTOR CONDUGTOR
9309724123
WHIT EGRESS
WHITES LAMP:
" v (REF)
PINK
RED
. Ui Ul
| BLAC ul YELLO\ =
VELLDW/GREENj- |

e B METAL HALIDE
REE REE 1 ELECTRONIC BALLAST
Nj ELBEACLTSIng - 35W-R111 = 93023760
WHITE: 35W-MMC = 93007421
HITE: AG8429 T 20W-MMC = 93035416

:GREEN f GREE!

E:lﬁ;,

PLL
WIRING DIAGRAM

LEAD LEAD
WIRES WIRES

METAL HALIDE EGRESS
WIRING DIAGRAM WIRING DIAGRAM

e BLACK
GREEN:
—— WHITE:
e BLACK
GREEN:
. WHITE

YELLO

BLUE—=§ < < j
RED (= = = 8

E
CONDUCTOR
930G7241-23

5 CABLE
CONDUCTOR
930q7241-23

RED L

| YELLOW/GREEN:
U j—

RED

ul
u

PINK

Q BLACK—./—\

[3 REE

12 LED LAch "’ﬁ__ ——0
LACK DRIVER = 24LED | RED
WHITE: 93015105 WH‘TE_§ DRIVER ;
93032685

WHITE

A
——L LS
BLACK 1zw LED \—/—PURPLE_. 3
WHITE: 93015105 _'\ j— E
'YELLOW/GREEN:
Ul
w
B u
I
H
ul
LO!
l S

BLACK
REEN:

N RED
Nt UE

ELLO)

L
ooo
1| | BEE J
ma ¢D LACK LACK—I l—RE

M
5]
3
3
o
£ L] conucror
z = &
z = G osogrz3ias
&
¥ G
3 LEAD eoope
a s dadie WiRES
CONDUCTOR -
930q7231-23 =ﬂ§= BLACI
‘ i
i -
g =
YELLC o
LEAD I

15LED 24 LED
WIRING DIAGRAM WIRING DIAGRAM

Page 3 of 4

Current ‘@’ currentligh.ting.corr.w/aal . o | (Rev 35106122

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change
without notice. All values are design or typical values when measured under laboratory conditions.



16555 East Gale Avenue

City of Industry, CA 91716-0080
(626)968-5666 Fax(626)330-3861
www.currentlighting.com/aal

architectural
arealighting

CATALOG NUMBER

WIRING DIAGRAMS PKSP

AC
u
RED—:E Oa—whe [c)
PINK .
LaC = =m = WHIT ]
YELLC PLL LAMP
<L SOCKET YELLOW/GREEN RI11LMP HLDR
= (REF) I 93007310
= ToMH LMP HLDR
AT2074
5 8aeLe
CONDUCTOR el
93097241.23
EGRESS
ey LMD
ACH ul (REF)
PINK
RED
. Ul Ui -
I U Yoo T |
YELLOW/GREEN: ———GREEN
LEAD

BLACK

BLACK e
REEN REE!
ELECTRONIC Nﬁ_—
BALLAST Q
WHITE: AG8425 WHITE:
:GREEN ! f GREE!

METAL HALIDE

METAL HALIDE
ELECTRONIC BALLAST
35W-T6EB & R111EB = 93023760
70W-T6EB &R111EB= 93023732

H

PLL EGRESS

g ‘ WIRING DIAGRAM ] WIRING DIAGRAM WIRING DIAGRAM

WIRES

LACK RE|

LACK
° I:|I:| Oo
_p|NK

——LACH LAcx—:EE:—RE BLACKe
LACK: En_ca:p_eu\ck REI |
o 0 ° I:| ooo oO0O0Oo
oOOOe oO0OOo
E_cam_BLACK
PWK—:E ELLOW/GREEN 0
L=1=1=]
S === auack ack
LuE—=§E'= AC BLACK E
CONDUCTOR
RED == = suAck—{{_f———rED— 93097231-23
ELLOW/GREEN D
]
ABLE
CONDUCTOR
9300724123 L
ACH
i
3
= 12W LED
LACKe DRIVER
I 93018105
YELLOW/GREEN. WHITE:
- BLACK BLACK
L REEN1 M
L = WHIT! 3
AC AC L = @
3 WHITE
4
BLACK e L
REEN: oL Lo ’ |
DRIVER a
WHITE W HITE 93032685 13
E—7T £
e P U R P L e B
M
3
3
a sEadLe
CONDUCTOR
9309724123
u L i
Lo 2
g © —
B J. LEAD I
- WIRES
S ELLOW/GREEN
2
@ sEadle RED B:
CONDUCTOR =0
! 9300724123 _:am_awck
&
il
& - ° |:| oge oooDo
LEAD I 8
e “ooDe YS! LACK_:‘:Ez—RE BLACKe
ELLOW/GREEN D

==
LuE—=§ O—siack

18 LED
WIRING DIAGRAM

LACK REI

M
WIRING DIAGRAM

currentlighting.com/aal

Current@

© 2022 HLI Solutions, Inc. All rights reserved. Information and specifications subject to change

without notice. All values are design or typical values when measured under laboratory conditions.

Page 4 of 4
(Rev 22/08/22





